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Quant Mega Quiz for SSC CGL Tier - 2 (Solutions)

$1. Ans.(c)
Sol. Let the initial quantity of solution be x lit
ATQ,
X3 30X 3
Sugar _ e 100 @
water (xxs mxxgj NEE
a8 100 =2 100
21x%80
= =7:13
B0=3%x
S2. Ans.(d)
Sol. Let the investment of A, B and C be Rs. 3x, Rs. 5x and Rs. y. respectively
Therefore,
A B C
Jxx12 Sxx 12 yxG
36x 60x 6y
ATQ,

60x=6y=y=10x
Required percentage = jTix 100 = 3024

S3. Ans.(d)

Sol. Let the speed of boat in still water be 5x km/hr and that of stream be 3x km/hr.

ATQ
48 48
—4—=12
Bx ZIx

48+ 192
= =

Bx
=x=2.5
Speed of boat in still water = 5x TEST SERIES
=12.5km/hr

12

S$4. Ans.(a)
Sol.

_ priciplexratextime

100
_ 5040%100 _

=5 year
12600%8

Amount in 2 year at CI = 1260[):5 % ;—= Rs. 17150
CI =Rs. 17150 - Rs. 12600 = Rs. 4550 59 Total Tests | eBooks

S1
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S5. Ans.(b)
Sol.

ATQ,

Let present age of A, B, C, D be 6x, 8x, 11x and 15x years respectively.
(6x-4)+(Bx-4)+(11x-4)+(15x-4) =64

40x = 80

x=2

Difference of present age of B and D is

(15-8) = 2 =14 years

$6. Ans.(a)
Sol.

Let radius of cylinder = x cm

And height of cylinder is 8x cm

Total surface area = 2mx.8x + 2mx”

= 2m.9x*

= 18mx* cm?

If height of cylinder is reduced by 12%%

Then new total surface area

= 2mx.7x + 2mx°

= 2.m.8x>

= 16mx% cm?

So, percentage change in total surface area oféylinder
18mx?* — 16mx*

B 18mx>

2
=—x 100
18

X 100

—1>-C1DD—111%
9 79

$7. Ans.(c)
Sol.

40\38/35
3/ \2

ATQ, 5 — 50.

1—10.

2= 20
Number of Girls = 20.
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$8. Ans.(d)
Sol.
Let the CP be Rs. 100x

Then,

MP = 100x X — = Rs. 145x
100

SP = 145x X — X — = Rs. 108.46x

100 " 100
ATQ,
B.46x=126.9
=x=15
CP=Rs. 1500
115

SP at a profitof 15% = 1500 X Too ~ Rs. 1725.

S9. Ans.(b)

Sol.

Let efficiency of A and B per hour be a and b respectively.
Total work — (7.5a + 7.5b) x 4 =30a + 30b

Now they work 4 hour in a day

Work done by A in one day

satitity

— 152

8

Similarly,

work done by B in one day = %
Work done by both in

:b%x8=lﬁdays

$10. Ans.(c)
Sol.

|

12 Months Subscription
X

Aw—192 m—+ Be—y —C

Suppose height of the tower CD =xm MAHA PACK

Let A and B be the points of observations. Live Class, Video Course,
And distance BC=y Test Series, eBooks

5 3
tand = —,tanB = —
12 4

Bilingual (with eBooks)
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Now in right angle ABCD

ch X 3
tanB=— =-=—...(i

BC y 4
Again in right angle A ACD

cD CcD
tanA = — = ——— = tanA

AC  AB 4+ BC

X
oo (i)

= =
192 4+y 12

Dividing (i) and (ii) we get,
x 192+y 3 12

—X———=-X
v X 4 5
192 + 9

=>—F=—=}9y=5(192 +v)

y 5
= 9y — 5y =960 = 5y = 960 .~ v = 240 m.
Putting the value of v in (i) we get

X 3
—=—=4dx =720 = x= 180
240 4

Hence height of the tower = 180 m.

$11. Ans.(c)
Sol.

No. of articles made in 15 hour = 80

No. of articles made in 2% hour = 80 ¥ % =60
No. of articles made in 3*9 hour = 60 E = 84

No. of articles made in 4™ hour = 84 x % =56

No. of articles made in 5% hour = 56 X g = 64

80+60484+56+64 _ 344
Average = - === 68.8

$12. Ans.(c)
Sol.

Let 150 workers complete the work in x days.

& 150 xx =150+ 146 + .... to (x + 8) terms

On puttingx =17

2550 =150 + 146 + .... 25 (terms)

=§[za+ (n-1)d], n=25, a=150, d=-4
= %(301} ~96) = 2550

L.H.S.=R.H.S.
Note: it is better to solve by options.
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$13. Ans.(c)
Sol.

According to the formula,
MyDy T, _ MyDaTo
W, W,
GivenM, = 105, D, = 25, T, =8, W, =

Now, let the additional men be x.
Then, M, = 105+, T, = 9
[}2 = 25

And W, =1 —E ==
On putting these values in the above formula.
1W05x25=x8 _ (105+x)=x25x%9

2/5 - 35
_lopsxg _ (105+a)x9

2 3

=105 % 4 = (105 + x) X 3
=105 x4 =105x 3 4+ 3x
=3x =105

~x =35 men

[by technique 1]

|k

$14. Ans.(c)
Sol.

ATAQ.

x X 2w 20w B — 56100
100 100 100

x = 50000

$15. Ans.(a)
Sol.
113><41-—x><2_ 452 — 2x 4—52—2x_5

= = — = —
13Xx9-5x7 117 — 35 82
=452 -2x =410

= 2x=452-410=42 = =x=21

$16. Ans.(c)
Sol.

2700 - 240 _ 2460
1120 4110 1230 12 Months Subscription

Given expression =

$17. Ans.(b)
Sol.

\,-"'i'_ﬂ-l-\,-"'a-i-\."'_r: I1D+w@+wﬁ+w@ SSC
= J(wﬁ)z +(V3) +(V5) +2V2X3+2V3 x5+ 2/2 X5
Useful for CGL, CHSL & others

TEST PACK

2
= [Z+VE+VE) =VZ+ V3415

So,p+q+r=10
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$18. Ans.(c)
Sol.

To find a* +§

at+1

a

Giveneqn.a+a’+a*-1=0 (i)
Multiply eqn. (i) by (a] & then subtract eq 1from that equation
a*+a*+at-a=0

at+a’+a’-1

- - -+

a*-2a+1=0
4
a+1
=2

a

$19. Ans (b)

Sol.

Ifx+== 13,

Then, we have,

xf=-1

348 4 3[378/7) 45,(726/11) 4560
=348 4 354 4 x56 460

=(x5)® + (x5)% + (x5)11 + (x8)10
=1+ (-1)+(-1)+1=0

$20. Ans (d)
Sol.
ATQ,
—=>==-=Ik(let)
=x=ak,v=>bk, z=rck
ax-by by-cz cZ-ax
T la+b)(x-y) | (b+edly-z) | (c+a)(z-x)
_ a’k-b%k b2k-c%k c2k-a®k
" (a+b)ak-bk) = (b+c)(bk-ck) = (c+a)(ck-ak)

a2_b2 b2_p2 -
" (a+b)a-b) + (b+cl(b-c)  (e+allc-a)
_ a-p? bE-c* ci-a® 3

a-p2 | b2Z-gl | g2_g2

S$21. Ans.(d)

Sol.

Ratio of investment

= R : )
40,000x1 : 75,000=2
+50,000x1
+60,000=1
+70,000=1
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= 2,20,000: 1,50,000
=22:15

Profit = Rs. 3,70,000
According to the question
37r— 370,000

1r — 10,000

Ramesh share
22r=2,20,000

$22. Ans.(d)

Sol.

50000 : 70000

5.7

According to the question
30 30

— X Tx———x 5x =90
100 100 _
ﬂxz}{:‘}{}orx:gnxlm
100 30 %2
x=150

Sx+ Tx=12x

12 % 150 = 1800

$23. Ans.(a)
Sol.

Let the investment made by A is Rs. x
A—x

B — 2x after 6 months

C — 3x after 8 months
Ratio of investments

XXM 12:2x X 6:3x X 4
1:1:1

According to the question,
Profit — 36,000

3r — 36,000 T —
C's share — 12,000 S esgc rEexpaan:Z ]
S24. Ans.(a) S s c
Sol. When we change shape of a solid figure, volume remains
constant,
=~ Volume Hemisphere = Volume of cone E x T R E M E
2 1

—ntR?* = —ntR*h

3 3 Video Courses, Test Series,
~2R=h

eBooks
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$25. Ans.(b)
Sol.

Quadrilateral ABDE has 3 equilateral triangles and the side of the equilateral triangle is 2 unit then the
area of ABDE = the area of 3 Equilateral triangles

areacmﬁnﬁzsx‘;—sx 2% 2

=343
$26. Ans.(a)
Sol.
According to question,
CP 5P
| 4 —— 5 (25% profit first time)
Il 4 — 5§
11 4.-_ — 5
64 125
l 2 lKZ
128 250 (Given)
~CP=Rs.128
$27. Ans.(c)
Sol.

If laborer had come for 20 days

he would have earned Rs. =20 = 75 = 1500

If laborer had absented for 20 days

he would have earned fined for 20 = 15 = Rs. 300

present absented

1140 - (—300) (1500 - 1140)

Rs. 1440

Days— 4~ : _— 1
5

lx-a lm lx"f

16 days 4 days

20 days
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$28. Ans.(b)
Sol.
SumofPand Q=5050=2=10100
SumofQandR=6250%2=12500
SumofPand R=5200 = 2 = 10400
33000
(P+Q+R)= = 16500

2
Monthly income of P = 16500 - 12500 = 4000

$29. Ans.(c)
Sol.

Let total students = 100
Students passed in half yearly exam =70

Students failed in half yearly exam = 30
Students passed in yearly Exam = 70 X % =42
Students passed in yearly exams who failed in half yearly exam

=30 x —

=24

Total students passed in yearly Exam = 42 + 24 = 66
66

¥ passed = ﬁx 100

= 66%

$30. Ans.(a)
Sol.

Let total quantity be 100
Alcohol = 40

st vessel
40 +x _ 1
100 4+x 2
80+ 2x=100+x
x=20ml
2nd yessel
40-2y+y
srty 1
3 2 A
100-zy+y Months Subscription
3y

40 + 3

s 1
il SSC
200 +3y 1

i as MAHA PACK

4y =100 Live Class, Video Course,
y =25 Test Series, eBooks
5
E}';D =—2x 100 ege
o Bilingual (with eBooks)
= o
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